


• Find the next term

• अगला पद ज्ञात कीजिए

• 9, 10, 13, 22, 49, ?

A.117

B. 126

C. 115

D.130



• Find the next term

• अगला पद ज्ञात कीजिए

• 3, 10, 24, 52, 108, ?

A.180

B. 190

C. 210

D.220



• Find the next term

• अगला पद ज्ञात कीजिए

• A, D, B, F, D, I, G, ?, K

A.J

B. N

C. E

D.M



• Select the related number from the given alternatives.

• जदए गए जिकल्पों में से संबंजित संख्या का चयन करें।

• 6 : 40

A.15:45

B. 9:72

C. 5:25

D.7:53



• Select the related number from the given alternatives.

• जदए गए जिकल्पों में से संबंजित संख्या का चयन करें।

• 6 :252 ::5 : ?

A.225

B. 150

C. 175

D.125



• From the given four sets, find the one which is similar to the given set of 

numbers.

• जदए गए चार सेटों में से, उस सेट को खोिें िो जदए गए नंबरों के सेट के समान है

• (3, 24, 4)

A. (6,35,11)

B. (12,84,4)

C. (2,30,8)

D.(4,72,9)



• Arrange the following words in order according to the dictionary.

• जनम्नजलजखत शब्दों को शब्दकोश के अनसुार क्रम में रखे।

• 1. Grasp 2. Granite    3. Grass 4. Graph     5. Grape 

A.5,1,2,3,4

B. 5,1,3,2,4

C. 2,5,4,1,3

D.2,5,1,4,3



• Monika is fourteenth from the right end in a row of 32 girls. What is her 

position from the left end? 

• 32 लड़जकयों की पंजि में मोजनका दायें छोर से चौदहिें स्थान पर ह।ै बायें छोर से उसका स्थान क्या

ह?ै

A.24

B. 19

C. 25

D.17



• One evening before sunset Mohan and Sohan were talking to each other, face to 

face. If Sohan’s shadow was exactly to the right of Sohan, which direction was 

Mohan facing ?

• एक शाम सयूाास्त से पहले मोहन और सोहन आमने-सामने बात कर रह ेथे। यजद सोहन की परछाई 

सोहन के ठीक दाजहनी ओर थी, तो मोहन का मखु जकस जदशा में था?
A.East

B. West

C. North

D.South



• Eight people 2P, 5Q, 6R, 7S, 8T, 3U, 1V and 0W, are seated around a circular 

table facing to each other. 6R is second to the right of 2P and third to the left of 

5Q. 5Q is second to the left of 1V. 7S is fourth to the right/left of 1V. 3U is a 

neighbor of 7S. 8T is third to the left of 0W.

• आठ व्यजि 2P, 5Q, 6R, 7S, 8T, 3U, 1V और 0W, एक ितृ्ताकार मेि के चारों ओर आमने-

सामने बैठे हैं। 6R, 2P के दायें से दसूरे स्थान पर और 5Q के बायें से तीसरे स्थान पर ह।ै 5Q, 1V 

के बायें से दसूरे स्थान पर ह।ै 7S, 1V के दाए/ँबाए ँचौथा ह।ै 3U, 7S का पड़ोसी ह।ै 8T, 0W के 

बायें तीसरा ह।ै



• Statement :

• Some A are B.

• No A are B.

• All C are D.

• Conclusion:

• (I) Some A being D is a assumption.

• (II) All A being D is a given.



• Which of the following diagrams indicates the relationship between profit, 

dividend and bonus?

• जनम्नजलजखत में से कौन सा जचत्र लाभ, लाभांश और बोनस के बीच संबंि इजंगत को करता ह?ै


